[ 12 ] 8yl Bimaall 3945 530 O ;o
3 : ,

” [1—1 12 ]:(1—‘,1)2—36=(,1—7)u+5) @
ol = - ,

W




Ay==5%k=T7 A

. ’ L.VI." ™ u ' 3““5011 '
o= T oW papn Vol ediue 5 i

1 =7.

______ (A—Al)v=0 vonn..(45)
Ol oy
~-6 1‘2} v, T .
(A*mv:[ 3o-6 Ibv | T |o J
—6v, +12v, =0 O\gi
v, —6v, =0

v, = 2v, B 8ly Dslas ooy, 2
',

hm e = = Syl = T A ol el g o7 = v, [f\] »
4

Ol daei (45) :U:N.Ll dis "L""U"-'Jdl{}

6 12 v, 10

6v, + 12v, =0
v, +6v, =0

Ah==s54 L B andl oty vy = =2y, o Sl

o 7]
Olgaall O Wa'vV, = 1b“ﬁ Bsnal t,ué_-Jl Jo O 12 Js

}‘flﬂ“Jadl 2 " 2 o
. 2 ¥ = ]- : Je‘s',y’(t) =. I: 1 } v




do ¢ JoV AL el

0 1 L'm:l - 2, }
y(0) = [1 il c, + €

m@&gaw&guw_} c, +¢,=1,2¢ —2,=0 O

P TIRTAN (,,a\ Tl J 08 Va o5

- 5t

_ __1__ 2 ’.'t v _—2 1 |
y(t) = — { + - -——e Pl g™

2



